Project Name: Dania Beach US-1 (SR-5/A1A) Right-of-Way Improvements

		Enco, LLC		Green Construction Technologies		Miguel Lopez Jr, Inc.		Team Contracting		Weekley Asphalt Paving			
Item No.	Item Description	Est. Quantity	Unit	Total Unit Price	Total Cost	Total Unit Price	Total Cost	Total Unit Price	Total Cost	Total Unit Price	Total Cost	Total Unit Price	Total Cost
1	Bonds and Insurance	1	LS	\$11,700.00	\$11,700.00	\$8,000.00	\$8,000.00	\$3,000.00	\$3,000.00	\$6,600.00	\$6,600.00	\$8,200.00	\$8,200.00
2													
3	Maintenance of Traffic (MOT) (Per FDOT Standards)	1	LS	\$5,850.00	\$5,850.00	\$12,500.00	\$12,500.00	\$3,500.00	\$3,500.00	\$25,000.00	\$25,000.00	\$14,200.00	\$14,200.00
4	As-Built Record Drawings	1	LS	\$8,775.00	\$8,775.00	\$6,500.00	\$6,500.00	\$1,700.00	\$1,700.00	\$12,000.00	\$12,000.00	\$2,550.00	\$2,550.00
5	Professional Video Documentation - Pre- construction, Weekly Photos, & Post-construction	1	LS	\$3,510.00	\$3,510.00	\$1,000.00	\$1,000.00	\$750.00	\$750.00	\$2,500.00	\$2,500.00	\$5,000.00	\$5,000.00
6	Testing and Quality Control	1	LS	\$4,680.00	\$4,680.00	\$2,200.00	\$2,200.00	\$2,000.00	\$2,000.00	\$7,500.00	\$7,500.00	\$3,200.00	\$3,200.00
8	Mobilization	1	LS	\$5,850.00	\$5,850.00	\$8,000.00	\$8,000.00	\$900.00	\$900.00	\$40,000.00	\$40,000.00	\$46,000.00	\$46,000.00
9	Clearing and Grubbing (As Per Plan & FDOT Section 110)	25,649	SQFT	\$1.17	\$30,009.33	\$0.36	\$9,233.64	\$2.00	\$51,298.00	\$0.42	\$10,772.58	\$0.25	\$6,412.25
10	Remove Concrete Curb	217	LF	\$3.51	\$761.67	\$7.50	\$1,627.50	\$5.00	\$1,085.00	\$1.50	\$325.50	\$5.10	\$1,106.70
11	Remove Concrete Sidewalk/Apron/Turnouts and Aggregate Base	10,398	SQFT	\$4.28	\$44,503.44	\$1.50	\$15,597.00	\$4.25	\$44,191.50	\$3.00	\$31,194.00	\$1.50	\$15,597.00
12	Remove Large Shade Tree (>11" dbh; including stumps)	0	EA	\$0.00	\$0.00	\$0.00	\$0.00	\$700.00	\$0.00	\$0.00	\$0.00	\$500.00	\$0.00
13	Fine Grading of Landscape Verges (As Per Plans)	20,773	SQFT	\$0.35	\$7,270.55	\$0.38	\$7,893.74	\$0.50	\$10,386.50	\$0.25	\$5,089.39	\$0.05	\$1,038.65
14	Type 'F' Concrete Curb (Per FDOT Index 300)	217	LF	\$21.06	\$4,570.02	\$32.00	\$6,944.00	\$22.00	\$4,774.00	\$22.00	\$4,774.00	\$16.50	\$3,580.50
15	4" Concrete Sidewalk (Per FDOT Index 310)	884	SQFT	\$4.68	\$4,137.12	\$3.90	\$3,447.60	\$5.00	\$4,420.00	\$3.50	\$3,094.00	\$5.00	\$4,420.00
16	Type 'B' Stabilization for Conc. Sidewalk (Per FDOT Section 160)	884	SQFT	\$1.17	\$1,034.28	\$1.50	\$1,326.00	\$1.50	\$1,326.00	\$2.00	\$1,768.00	\$1.41	\$1,246.44
17	Asphalt Overlay (Restoration Per FDOT Section 300-337)	6	Т	\$292.50	\$1,755.00	\$320.00	\$1,920.00	\$435.00	\$2,610.00	\$200.00	\$1,200.00	\$260.00	\$1,560.00
18	Bituminous Aggregate Base (Per FDOT Section 300 337)	9	Т	\$292.50	\$2,632.50	\$320.00	\$2,880.00	\$435.00	\$3,915.00	\$250.00	\$2,250.00	\$260.00	\$2,340.00
19	Aggregate Base (Per FDOT Section 901-916)	9	Т	\$292.50	\$2,632.50	\$320.00	\$2,880.00	\$265.00	\$2,385.00	\$200.00	\$1,800.00	\$49.00	\$441.00
20	12" Type 'B' Stabilization for Roadway (Per FDOT Section 160 & 911)	325	SQFT	\$29.25	\$9,506.25	\$3.50	\$1,137.50	\$2.50	\$812.50	\$2.75	\$893.75	\$1.41	\$458.25
21	Export of Soil (Surplus from Tree Planting Pits)	105	CUYD	\$35.10	\$3,685.50	\$16.00	\$1,680.00	\$15.00	\$1,575.00	\$15.50	\$1,627.50	\$17.50	\$1,837.50
22	Tree Grate (As Per Plans)	3	EA	\$760.50	\$2,281.50	\$700.00	\$2,100.00	\$950.00	\$2,850.00	\$430.00	\$1,290.00	\$1,290.00	\$3,870.00
23	Cocos nucifera 'Maypan' - 18' OA; 8.5' CT	6	EA	\$380.25	\$2,281.50	\$550.00	\$3,300.00	\$649.00	\$3,894.00	\$789.00	\$4,734.00	\$584.00	\$3,504.00
24	Cocos nucifera 'Maypan' - 22' OA; 8.5 CT	0	EA	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$584.00	\$0.00

Project Name: Dania Beach US-1 (SR-5/A1A) Right-of-Way Improvements

				Enco, LLC		Green Con Techno		Miguel Lopez Jr, Inc.		Team Contracting		Weekley Asphalt Paving	
Item No.	Item Description	Est. Quantity	Unit	Total Unit Price	Total Cost	Total Unit Price	Total Cost	Total Unit Price	Total Cost	Total Unit Price	Total Cost	Total Unit Price	Total Cost
25	Dictyosperma album - 12' OA; 8.5' CT	20	EA	\$397.80	\$7,956.00	\$280.00	\$5,600.00	\$225.00	\$4,500.00	\$489.00	\$9,780.00	\$400.00	\$8,000.00
26	Dictyosperma album - 14' OA; 8.5' CT	34	EA	\$444.60	\$15,116.40	\$310.00	\$10,540.00	\$252.00	\$8,568.00	\$570.00	\$19,380.00	\$454.00	\$15,436.00
27	Dictyosperma album - 16' OA; 8.5' CT	31	EA	\$491.40	\$15,233.40	\$435.00	\$13,485.00	\$300.00	\$9,300.00	\$590.00	\$18,290.00	\$519.00	\$16,089.00
28	Dictyosperma album - 18' OA; 8.5' CT	16	EA	\$538.20	\$8,611.20	\$470.00	\$7,520.00	\$355.00	\$5,680.00	\$600.00	\$9,600.00	\$584.00	\$9,344.00
29	Dypsis lastelliana - 12' OA; 8.5' CT	15	EA	\$299.52	\$4,492.80	\$275.00	\$4,125.00	\$270.00	\$4,050.00	\$365.00	\$5,475.00	\$292.00	\$4,380.00
30	Dypsis lastelliana - 14' OA; 8.5' CT	32	EA	\$329.94	\$10,558.08	\$315.00	\$10,080.00	\$280.00	\$8,960.00	\$426.00	\$13,632.00	\$341.00	\$10,912.00
31	Dypsis lastelliana - 16' OA; 8.5' CT	28	EA	\$360.36	\$10,090.08	\$340.00	\$9,520.00	\$330.00	\$9,240.00	\$488.00	\$13,664.00	\$400.00	\$11,200.00
32	Dypsis lastelliana - 18' OA; 8.5' CT	12	EA	\$390.78	\$4,689.36	\$360.00	\$4,320.00	\$395.00	\$4,740.00	\$549.00	\$6,588.00	\$440.00	\$5,280.00
33	Lagerstroemia indica 'Muskogee' - 17-18' OA; 8.5' CT; Standard	0	EA	\$0.00	\$0.00	\$390.00	\$0.00	\$305.00	\$0.00	\$0.00	\$0.00	\$729.00	\$0.00
34	Lagerstroemia indica 'Tuscarora' - 17-18' OA; 8.5' CT; Standard	12	EA	\$292.50	\$3,510.00	\$410.00	\$4,920.00	\$305.00	\$3,660.00	\$690.00	\$8,280.00	\$729.00	\$8,748.00
35	Phoenix dactylifera 'Medjool' - 10' CT	6	EA	\$2,340.00	\$14,040.00	\$4,250.00	\$25,500.00	\$5,450.00	\$32,700.00	\$5,300.00	\$31,800.00	\$5,635.00	\$33,810.00
36	Bulnesia arborea - 17-18' OA; 8.5' CT; Standard	6	EA	\$409.50	\$2,457.00	\$290.00	\$1,740.00	\$445.00	\$2,670.00	\$475.00	\$2,850.00	\$567.00	\$3,402.00
37	Thrinax radiata - 12' OA; 8.5' CT	6	EA	\$702.00	\$4,212.00	\$1,104.00	\$6,624.00	\$290.00	\$1,740.00	\$975.00	\$5,850.00	\$681.00	\$4,086.00
38	Thrinax radiata - 14' OA; 8.5' CT	12	EA	\$702.00	\$8,424.00	\$1,263.00	\$15,156.00	\$338.00	\$4,056.00	\$1,140.00	\$13,680.00	\$794.00	\$9,528.00
39	Thrinax radiata - 16' OA; 8.5' CT	12	EA	\$819.00	\$9,828.00	\$1,422.00	\$17,064.00	\$375.00	\$4,500.00	\$1,300.00	\$15,600.00	\$908.00	\$10,896.00
40	Thrinax radiata - 18' OA; 8.5' CT	5	EA	\$936.00	\$4,680.00	\$1,581.00	\$7,905.00	\$430.00	\$2,150.00	\$1,465.00	\$7,325.00	\$1,021.00	\$5,105.00
41	Tradescantia viginiana - 1 Gal.; 12" OA; Full	393	EA	\$409.50	\$160,933.50	\$3.25	\$1,277.25	\$6.50	\$2,554.50	\$5.36	\$2,106.48	\$3.65	\$1,434.45
42	FloraMulch	61	CUYD	\$40.95	\$2,497.95	\$29.00	\$1,769.00	\$50.00	\$3,050.00	\$42.00	\$2,562.00	\$42.00	\$2,562.00
43	Ultimateflora zoysiagrass (Solid Sod)	12,456	SQFT	\$0.58	\$7,224.48	\$0.34	\$4,235.04	\$0.53	\$6,601.68	\$0.42	\$5,169.24	\$0.54	\$6,726.24
44	Irrigation Design (As Per Plans - Approx 18,714 sqft of coverage)	1	LS	\$3,500.00		\$4,500.00		\$5,000.00				\$2,000.00	\$2,000,00
45	2" Mainline (As Per Plans)	х	LF	\$2.00		\$5.00		\$3.90				\$4.00	\$4,000,00
46	1-1/2" Lateral Line (As Per Plans)	х	LF	\$1.80		\$2.50		\$2.20				\$3.00	\$2,250.00
47	1-1/4" Lateral Line (As Per Plans)	х	LF	\$1.50		\$2.25		\$1.98				\$2.75	\$4,812.50
48	1" Lateral Line (As Per Plans)	Х	LF	\$1.50		\$2.00		\$1.90				\$2.50	\$500.00

Project Name: Dania Beach US-1 (SR-5/A1A) Right-of-Way Improvements

				Enco	, LLC	Green Cor Techno	nstruction plogies	Miguel Lop	ez Jr, Inc.	Team Contracting		Weekley Asp	ohalt Paving
Item No.	Item Description	Est. Quantity	Unit	Total Unit Price	Total Cost	Total Unit Price	Total Cost	Total Unit Price	Total Cost	Total Unit Price	Total Cost	Total Unit Price	Total Cost
49	3/4" Lateral Line (As Per Plans)	х	LF	\$1.00		\$1.75		\$1.55				\$2.45	.\$3,675:00
50	6" Pop-up Spray Head (As Per Plans)	х	EA	\$18.00		\$20.00		\$19.50				\$20.00	:\$6,700:00
51	12" Pop-up Spray Head (As Per Plans)	х	EA	\$20.00		\$27.00		\$25.00				\$0.27	\$5 4.00
52	Bubblers - 1/4, 1/2, 1, 2gpm (As Per Plans)	х	EA	\$20.00		\$18.00		\$19.30				\$15.00	\$7,200.00
53	2" Control Valve w/ Valve Box (As Per Plans)	х	EA	\$280.00		\$200.00		\$355.00				\$250.00	\$4,000.00
54	1" Quick Coupler Valve w/ Valve Box (As Per Plans)	х	EA	\$150.00		\$150.00		\$185.00				\$200.00	\$3,600.00
55	Backflow Preventer - PVB (As Per Plans)	х	EA	\$500.00		\$600.00		\$850.00				\$700.00	\$4,200:00
56	Irrigation Controller w/ Pedestal and Base (As Per Plans)	х	EA	\$350.00		\$1,370.00		\$650.00				\$2,000.00	\$16,000.00
57	Irrigation Controller Ground Assembly (As Per Plans)	х	EA	\$250.00		\$385.00		\$340.00				\$500.00	\$4;000:00
58	Irrigation Controller ET Manager (As Per Plans) (Add-Alternate)	х	EA	\$450.00		\$565.00		\$3,340.00				\$3,500.00	\$28;000:00
59	Irrigation Controller Rain Gauge (As Per Plans) (Add-Alternate)	х	EA	\$200.00		\$350.00		\$330.00				\$1,500.00	\$12:000:00
60	Service Tap and Meter Assembly (As Per Plans)	х	EA	\$1,500.00		\$6,000.00		\$3,500.00				\$2,000.00	\$12,000,00
61	Restoration for Service Tap (As Per Plan)	х	EA	\$1,500.00		\$400.00		\$4,400.00				\$1,000.00	:\$6;000:00
62	2" Gate Valve (As Per Plans)	х	EA	\$50.00		\$197.00		\$200.00				\$75.00	\$600.00
63	Horizontal Directional Bore (As Per Plans)	х	EA	\$2,250.00		\$45.00		\$4,400.00				\$25.00	\$30,000.00
64	Irrigation Design-Build Allowance	1	ALW	\$ 50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
65	Contingency/Discretionary Allowance for unforeseen field conditions or additional construction work approved by the City Engineering Services Department	1	LS	\$ 50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
66	Total Base Bid (Items 1 - 65)				\$551,980.41		\$351,547.27		\$366,092.68		\$456,044.44		\$393,500.98

Project Name: Dania Beach US-1 (SR-5/A1A) Right-of-Way Improvements

	u No.: 10-016			Enco	, LLC	Green Construction Technologies		Miguel Lopez Jr, Inc.		Team Contracting		Weekley Asp	bhalt Paving
Item No.	Item Description	Est. Quantity	Unit	Total Unit Price	Total Cost	Total Unit Price	Total Cost	Total Unit Price	Total Cost	Total Unit Price	Total Cost	Total Unit Price	Total Cost
67	Alternative Bid Item No.1												
68	Excavate and Export existing soils from landscape verges to a 2' foot depth (As Per Plans)	639	CUYD	\$25.00	\$15,975.00	\$16.00	\$10,224.00	\$20.00	\$12,780.00	\$22.00	\$14,058.00	\$17.50	\$11,182.50
69	Planting Soil Replace and Grade (As Per Plans)	639	CUYD	\$35.00	\$22,365.00	\$32.00	\$32.00	\$25.00	\$15,975.00	\$28.00	\$17,892.00	\$21.00	\$13,419.00
70	Total Add-Alternate No. 1				\$38,340.00		\$10,256.00		\$28,755.00		\$31,950.00		\$24,601.50
											_		_
71	Unit Prices						***********						***************************************
72	Soil excavation on-site	х	CUYD	\$16.00		\$16.00		\$20.00		\$25.00		\$17.50	
73	Soil export and dispose off-site	х	CUYD	\$22.00		\$15.00		\$10.00		\$30.00		\$17.50	
74	Soil import (structural fill) graded	х	CUYD	\$66.30		\$30.00		\$30.00		\$30.00		\$21.00	
75	Import structural fill - embankment/compaction	X	CUYD	\$52.00		\$35.00		\$35.00		\$38.00		\$20.00	
76	Import drainage/planting soil per specifications	х	CUYD	\$46.00		\$41.00		\$45.00		\$38.00		\$20.00	
77	Engineered fill: #304 stone - placed & compacted	х	CUYD	\$75.00		\$48.00		\$50.00		\$48.00		\$35.00	
78	Engineered fill: #57 stone - placed & compacted	x	CUYD	\$66.00		\$48.00		\$50.00		\$48.00		\$35.00	
79	Engineered fill: #1 & #2 stone - placed & compacted	x	SQFT	\$66.00		\$50.00		\$55.00		\$48.00		\$35.00	
80	6" Concrete sidewalk/pavement (Per FDOT index 310)	x	LF	\$5.00		\$7.00		\$9.00		\$4.80		\$45.00	
81	4" PVC SDR 26 fabric wrapped perforated underdrain	x	LF	\$3.20		\$20.00		\$50.00		\$58.00		\$45.00	
82	18" x 6" french drain	x	LF	\$3.00		\$40.00		\$60.00		\$80.00		\$85.00	
83	Silt fence	x	EA	\$1.00		\$2.00		\$2.00		\$7.50		\$1.00	
84	Inlet Protection	х	EA	\$30.00		\$100.00		\$150.00		\$350.00		\$400.00	
85	Curb Inlet Protection	х	LF	\$30.00		\$150.00		\$200.00		\$350.00		\$400.00	
	12' wide construction drive - 12" of #1 & #2 stone, fabric wrapped and topped with #57 stone	х	LF	_		\$90.00		\$1,500.00		\$265.00		\$125.00	
									300000000000000000000000000000000000000				
87	Acknowledged All Addendums/Clarifications			Yes		No		Yes		Yes		Yes	
88	Bid Security			Yes		Yes		Yes		Yes		Yes	